Joobotdbobotddbobootdd
Jouooogtd

gd 17d 20 100

guooobogd
g gd



1 0000 1
2 0O0OOO0OoO 1
2.1 OO0 ..., 1
22 30000000 . .. s e 2
23 00000000 .. .. . e s e s s s 4
24 000000000 ... . s e s e s s 5
3 0J000OOOoOoOooooooa 5
3.1 O00O0O0O00 ... e e s s s 5
3.2 Lax-Friedrichs OOODO . . . . . . . . . . o e et 8
4 QJOO0OO0OOO0OOO 9
41 000 14000000000 ... ... e e, 9
4.2 000000 ... e e 9
4.3 O000O00 . .. e 10
4.4 000000 ... e, 12
4.5 O000 . .. e 12
4.6 O0O0O0O0O00OO0O0O0O ... s s st s 14
5 00000000 OU0Ooooooooooog 16
51 O00O000O0 .. . . e s e s s s 16
52 000000 O0OO0ODOOOO0OODOOoOOoOooOooOooOg ... 18
6 OO0 22
ooon 24



HEN

gbobooboboobooboooobobobbooboboobono
uobobooobobooobbobooobbooobbooobooboonobog
goboboooobooobbbooobbooobboooobobooooboo
gbobooboboobobooboooobobob20b0bO0o0bOnDO
O00000000000002002000000000% 00000000
oboob i400b00boooboboboboboboboboooonog
U 14oogboobobobobobobobobobooboobooboonbog
uoboboooboooobbooobobooobbooobobooooboog
gboboobogobbooboobbooboobbooboo

ii



ugoooob oood oo 170 20

1 0ognd

gboooobobooooboboooobobooobobobooobobooo
gbogbobuoobobobooobboboooboboobobooboboooono
000000000000000000000002002000000000%0000
gobooboo 1 40booobuooboobbooboobbon

gbbobbooboobouooboobuoobbobboobuooboobooboo
gobooobooobobooooobooboobooonboo

2000000000 30bboobuoobbooobooboobboobooono
0300000000000 DO0O0O0O0O000O0DODOO00O0DDO Lax—Friedrichs O
gbooobooboobbogoo40boboooooooboooobbooboooobo
gboogbooboobooobooboosuoboboooboobobooboobobn
gboooboboobooobooboobooboboboooboboooboobobon
gobooobooooboobooooboobooobbooboonboobooonon

2 00Ooogo

ubboobooboobbooboobooboboobooboooboobo 11000
ooooobooobooonbooobuooboobooooD 195600 PIRichards O
goboobobobooboobobbooboboboobooobooboobooboobooon
goo

2.1 000

0000000000000 000O00000 (D0D)booooooo30Do0ooo
goboobobooobooooo

00 (000) 000000000000000000000+¢0000000 x(t) 0
0000000 dao(t)/dt00000000 d*x(t)/d? 000000000000
000000000000000 #(t)(i=1,2,3,..)0000

00000000 2000000000 v =dzi(t)/dt00000000O0C0OOO
0000000000000 000D0 10000w(z,t)D000000ODO0O0OODO
gboooooogobobobooooooboboboobooooooboobobob
ugboooo

0000000.000000000000¢00000000000000000
02 0000004000000000v(e,4)000000000000 2,00
0000¢ 000000000 v(z,t,) 0000000000000 2000 ¢00
00000000000 200000000000000000u(zi(t;),t;)=vi(t;)
000000000 v(z,t)00 #,¢t0000 10000000000000000
00000000000000000000000



ug oo

tl

I e e
I I I I
X1 T2 T3 Ty

t2

r - - - [ =
| | | |
1 x2 x3 T4
Fig. 1 0O00OO

gobodbo obooboobobooboobuooboooboooobooboooooo
gobooobooobboobbuoobobuoobobooogbbooonboboo
O0000000obooooOoO0g(x,t)D0O0O0OO

gbobooboooboobobobobooboobooobooboobbooobg
gbogobooboobooboobobboboboobobboboboboo
gogbobuooobbtooobbboooobbooobbuooobbooobbog
pOO0O000O0O0OD0OO LOODODOOdODODODODOD

1

P:m (1)

googd

Fig. 2 0000

22 30000000

gobobooobbooobbooobbooobbooobbooobbvyyobo
pUO0O0OO0OO0DOOO0OO0DOOOOODOODOODOODOO0ODOOO-000000 verO0O



gooobobbbobbbobodoooooooobooooo

N A

ma—F—-------

VT

000

Fig. 3 U0 v OOO0OOO0OOD0-00000DOO

gbodg-rgbooboboobobuobobobuobdbeyrobobooobobono
O000000O000O00000oO00OD (00)x(O)OooOoors0OO0OODODOOODOO
U0O0DbO0obOobDO pvorDO0O0D0OO0OD0ODOOD0OOD0O0O00OO0O000 g0

4 = povo (2)
00000000000 (000)=00)x(00)00000030000000 20t
000000gq(z,t),p(x,t),v(z,t) DOOOOO

q(z,t) = p(z, t)v(z,1) (3)

goboodgboooon

O0000z=ex=0000000000 NOOODOOOOOODOOOOOO (OO
000) 000 (D0000)00D00U0000 0 b0O0000O0O0OODODOOODOO
000000000000 p(=,t)D0O0OO

N = /ab p(z,t)dx (4)

O0000[eb 0000000 (=000 )0 00000 NOODDODOODOOOODODODOD
gobooobooobobooobooon

O0000¢0 [e,b000000000O [eb0000000O0O0DOOOOOOOOOO
gboboboboboboboboboobo NDODO

¥ = 4(a,) — a1 (5)

000000000 4)0O0ooooo

b
= | platydz = aa.t) - (bt (6)

goboooboooooooboooon



ug oo

0(4)000000(00)00000 [¢,b)000000 [e,b|00000000000
0000000 (6)00000 [0,b)(00)00000000000000000000
0oooo0
b000000000000000000b—2000000N =N(z,t)=[a,z]0
00000000000 (5)0

%N(:r,t) = q(a,t) — q(x, 1)

goboooboooooooboooon

a 0 0
%aN(l‘,t) - _%Q(‘T?t)
0 0 0

0 (4)00

Nz, ) = / (T, 1)dT
gooao

0
%N($’t) - p(l"t)
oooooon

0 0

0000 (300000

0 0
S0+ (o) =0 (7)

gobobobobobooooon

23 0O0O0O00O0O0Od

0000000 (900000000000 Lighthill O Whitham 00000000
gobooobooobobooboooboobooon

v="(p) ®
00000000 (10000 (9) 0000000
% 2 (ovie)) =0 Q

ubboboobobbobiboobbobbobo0obo0nbodn v=vme 000
gbooooobooooboboooboboobobooboboooboooooboobo
Ubobobobobobobbobol pre: DODOODOODODOD

—=v(p) <0 (10)



gooobobbbobbbobodoooooooobooooo

24 0O0DOOOOOOODO
0000 qg=pv(p)00O0O0O

q

A

mar === e e e e - - - = =

(@) Pmazx

Fig. 4 ODO0OO

000000000000000000000000000000000
e 0000000 (p=0)
e 000000000 (v=0000 p=prmaz)

0000000000 00O000ooO0o0oOD0o0oOD 24000000000000OO
U0 gme. 00 0000000000000 gne, 000000000

3 buooobbboodgbobo

3.1 0OOOogoon

000000 (nmOOooOoOOO0OU0DU0OOO0O0DU0DOODOUOODOOODO0ODOOOOODOOD
goo

1
- L+d

00L(000000)00000000000d00000000DOOOOOODODOD

0000000000000000000000 (D000)000D0oODooooooo

gobobobobobobobobobobobobobobob
ubbooboobboobooboooboobooon

p (11)

e JOOD :000DODODLOOODODOODODOLODODODODLOODOD
gooooon

e JOUD :00D0OD0ODODODODODODLODODODO



ug oo

0ooooo 0000000 DODDOCCDOD ooo

Fig. 5 0DO0O0O

00000 4, 0000000d;00000dg=vto00000000=wptg+ds0
gobooboobuoobooobboobooboooooboooooooboooooo
gboooooobobooobobobooobooboboobobooboboobo
gobodgbooobooon

ugbobooobooaoo

v =g+ at (12)

1
T = vot + §at2 (13)

ootgoodoooo
20z = v* — v} (14)

goboboobobodboobobooo«0b00ooboboonobooobbddetd
obobdbUdoyv=000000000O ds0

goooboooboobboobooobooooooDbooboobooboDoooboOon F =
—uN(pOOODOOOONOOOOO)DDODOOOOOODOOD

ma = —ulN = —umg
ooooooog

a=—ug (16)
00000000 (15000000
_ 14

2 pig
000000000 do

2

d = voty + —0-
2pg

ds



gooobobbbobbbobodoooooooobooooo

UboobobdypbOo0000

2

v
d=vty+ 18
2o (18)

00000000 (11) 000000
1 2
f—L:Uto-i-L
p 2pg

000oooooooon
1, 1
—v°+ovtg—(——L)=0
2pg (p )

000+0000000000000

v(p)=:-—ugto4—x/04ﬂo)2+-2ug(; —L) (19)

gooobgo
DDDDDDD3)DDDDDDDD(19)D pwd pcosf+smAO0O0O0O00O0DOOOOAO
gbobobobobobobobobooboboobooboboooooooooooDo

v= \/g2t%(ucost9 +sin6)? + 2g(pucosf +sinb)(1/p — L)
—gto(pcos + sin ) (20)
000 (2000000000000000 60 pO0OOO0OOw(p,)00OOOOOOO

00000 0000000000000 p,z00000g=4q(p,z) 00000000
gooogobooooooo

op
— 21
ot axpv(p, 0)=0 (21)

g=pv00¢q0 p02x20000000¢(p,)00DDOO



ug oo

3.2 Lax—Friedrichs OO OO

ooooooooooo
o f(wo + Ax) — f(x0)
dx Axz— 0 Ax
O Axz000000000000
ﬁ(x)wf(xo-i-Aa:)_f(xo)
dz % = Az
goodooooooooooooooooooogooooonoooooooooooo

Uoooooodboooob0obU0obU0bUunoUubDUn Lax-—Friedrichs UODODOOO
goood

Fig. 6 Lax—Friedrichs 0 0O 0O

00000 000000¢t00000000000D00 Az,At000OOLax Friedrichs
goooog

o o,
ot or

plt + Aty z) — HLERIHLEED g(t x4 Ax) — q(tx — As
At 2Ax
goooooooooooooo q:q(p,m)DDDDDp(t—i—At,x)DDDDDDDD

=0

At
p(z,t+ At) = —E(q(p(x + Ax,t),z + Ax)

—g(p(x — Aw,t),x — Ax)) + p(z + Az, t) —42—/)(1: — Az, t)

(22)



gooobobbbobbbobodoooooooobooooo

0000Lax Friedrichs 00000 200000000000000000000 Y, 3
000000000000000010000000000000000000000O
O0000000ooooOo0O0o00oO0oooooOooOOoOooOoOoooo
00000 000 (z—A2z)0000000p, 00000 p0O0000O00O0OO
0000000000000000000000000 p10p300 p, 00000
00 0 Lax-Friedrichs 0000000000 O0O0O00OQOO CFL(Courant-Friedrichs-
Lewy) OO

Az

|4, 2)| 57 < 1 (23)

gbobobobob

4 0O0OOO0O4O0O0OOO

gogbobobuoooobobol1oloobboooobbooooooboooooboobo
gobooboobooboobooobboooboobbooboooo

000000000000 000 (D000 ob0)000oooooooooooooOo
gobooboooboboooooaon

4.1 00O 184000000000
b0 1 4o0boooboooo
e 1000DDOODDOOODOODLDOO 1O
e NUUOOxO0000O00D010O0O0O0OO0DLDOO 10000000
e l1J00D0DODLDODODLODODLODODLODLODLODODO
e 10000 0OODDOODLOODLDOODOODLDbDODODO

gbobooobooboooooboooobobboobobobobonoooonoon 20
gobogt¢toogleobodbboob 00000000 DO0DbLO zp0ODOO
zgoUOUOUOOUOOO0O¢tO0bOuoobbobboobuooboaobbooboabooan
gobooobooooboobooonooboon

4.2 000000

gobogbooboboobogoboobooobooooboooobooooboboboooDo
goooooognd

0000 (p=0000/000)0 2008 U0O0000O0O0ODOO0OOOOYTODO
soboobooogoboboobooboobooboooobobobooobobobooo



ug oo

Fig. 7 00=200000000000000000000

Fig. 8 U0=80000000000DOO0OOO0O0ODOO

gbooboboobooo obobboeobobboboobooooboonooobobon
goboooobbbooooobobooooooboboooobboooobLbooooon
godg

4.3 000000

gboobodoobooboobobgboooboboobobobooobobooboobaon
gboobooobooboboobooobog o200b0o090 010b000b00b0O0ODb0OnDOn
go9poboogobooboobbooobooboo

0200 ¢400000000D0O0DOO0O0O0DODODOODOOOODODOOOOO
00000 (00 20000000000)00000000000O0DOO0OOOOOO0O
050000 (2000000000000O0)00ODOODOGOO0OOOOOOOOO
gbogboogbuoboobobooboboobouoobobuoobobuooooonb
gbobooboobobooboobobooooboboooboboobobobon
gb os10000000000000O00O0DO0ODO0OD0D 0.48,0,49,0.50,0.51,0.52 O
gbooo0ooboboobobobowboboosboboboboboooooos O



gooobobbbobbbobodoooooooobooooo

Fig. 9 DO00O0O0O0OO0OODOOODODOO1

gogdoooggooooggooogg

gogno
p<0.5|:|DDI:IDDDDDDDDDI:II:JDDDDDDDDDDDDDDDDDDD(DD
0)
p>0.5DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD(DDD)
p=050000000000000100000O0DOO0O0O0O0

00000 1400000000 q0O0 pO00000O00OO0DOODODOOOODODOOO0O
Jodod oo 1 bbb buoboo
O0D000000000D0 MOOOODOp< 0500000000 100000O00O00OO
000 MOOOOOOOOOOO 10000 MOOOOOOoOoOoOOoOoooOoooOooOooog
g0
S (24)

a:

0ooo
p<050000000000000100-MO00000000000 200000
DO0000000000000100-MO0000000000000g00

100 - M

1— 25
100 P (25)

q:



ug oo

p=0.48 0.49

p=0.51 0.52

Fig. 10 O0O00OO0O0OO0O0OO0O0O0OOoooooon 2

oooo
000 1840000000000 (p=05)000000000000000O00O0ODODO
oboboboboboboboboboboboobobobooboboooo

4.4 000000

goooooobooobobobgopoobob Py,0DbODLODO Py0O0ODODO
gobooaoboo

oogo 02080F,=020508000000000DO0OO00O0 N10o0bOoDO
gooooooooooooboboouonD Pw=1-PR, 0000

oooobooo 0 Py, OO0 OO0ODDOOOOODOOODODDOOODOOO
p=02000PRP,=02,P,=080000000000000000000000DOO
gooooooouopR,=08FP=0200000000000000000000
gbobooboooooboobobp=0800 Py, =02,P, =080000000000
gooond

oobooooboobob pO0bOO0O0DLOOO0OOOODOOLOOR,=02,P,,:=080
gbobobobobobopR,=08FPy=0200000000000000

4.5 0000

goboobooobboobobooooboboobooobooboboobooobooboboDbo
gbbodouoobobooboboobuobobobuobbooobooboobuoobobooobo
gobooooooobooobooooo



gooobobbbobbbobodoooooooobooooo

Py = Py = 0.5

Py, =0.8FP,: =0.2

Py, = 0.8FP,: = 0.2

Fig. 11 00000000000 DO0DO0ODOOD

U12000000000000000000000000000000000O02490
o 0 0000000000000 02z000000030% 0000 250000000
go0oo0o0ooooooobon 0.2,04,05070000p=0200000000000

X

70

P
Fig. 12 00000000000 DOOOOOOODOO

000000000 bOodbp=400 p=5000000000000000O00O0O0
O00000p=70000000000000000000000O0((DODOOOO 10O
O000)p=70000000000000000000000000OOOOOODOOO
gboogoog



ug oo

4.6 0O0OUOO0OOOOOO

gbobgoboooooboobo 1000000 0oooboboboboobooon
gboooboooboboood

gbooobooboboobooboboobooboobolboboooooobonoon
oo0ooooooboboobobOo 10000000

U13000o02000000000000000 14000000000 184000
goboobobooboboobb20b0b0ooobooobbooobooobboon
gooob1i4b00ooooooooooooooooooooong

y

H

Fig. 13 00 020000 1400000000000

gboooboboooobooobobuoooobobooobobooboooboon
oobobD 14000000000 0.2,03,04,05000020020000000000000

Fig. 14 00 0200 0500000000000

O00000000000000 p.0p.,=1/300000000000000000O0OO



gooobobbbobbbobodoooooooobooooo

gboooboboogigbobooosbgboboooboboboobooboon

N\

]

Fig. 15 00 03400000000000

gobboobboooboboobbuooboboobbooobboobbono 200
gbooboboobobgooobobooboboobobooobobobooobo
gbobg os0bbobobobobobboboboboboooboob 20000
gboobobooobbog osbboubobooboboobobobobooobo
gooobooboboobgobosubobuooboboobooboboobon
gbobobobobobo

uoboooobooboobooboboan 16DDDDDDD%§/}§%DDDDD qU
2000000000000DOO000OO0ODO0ODOODOODLOODbODODDbObLDO0ODbOoDO
000000000000000000000000000000009

0.5F - - - -

Fig. 16 J0O0O0oO0Oo0oboOobooboon



ug oo

5 bbugdoboboooobbboooon

5.1 0UO0O40bO0O0O

gbopoooboboooooooboboooboobooooboboobooboooon
gboogooobooboooboooooboobboobooboboooboobooon
gbooboboobouobobooboboobobuooboboobobobobo
gbooboboobobobooobobobooobobooboboobooboooobo
gbobooooobobobooblbobobobooboooobobobooooon
goo

2002000000% 0000 18400000000000000000 ¢0O0D0O0
goboooobobooboobooboooobooboooobobooobono 1vy0obooo
gobogboobbooooooboboosbubboobboobuoaonoo

'sabuntest.dat’ ——

Fig. 1v 0000000000000

gboobobobobobob

pt+q(p)e =0

Og(p)0000 18400000000 1800000 Lax—Friedrichs 000000000
O00000000O0gq(p)00 18000

Qmamp% 0<p<pq
Q(p) = Qmax% Pa < P < Pmaz (26)
0 ooad
gooooooono (23) 0 Lax—Friedrichs OO CFLOOOO
At
—_— <1
2 o)l <



gooobobbbobbbobodoooooooobooooo

0.5

Fig. 18 0000000000000

O000000ooO0q(p)o0O 1800

qmaz

’ P < pPa

q(p)=4 o (27)
{ dmazx p 2 Pa

Pmaz —Pa
0000000000000 po=Lpme 000000000 CFLOOO
At gmax
Az pg
ooooo0
At pa
AT Gmas
ooooooo
00000000000000000

<1

plx — Az, t) > 0.5 > p(z + Az, t)
plx — Az, t) < 0.5 < p(xr + Az, t)
ple — Az, t) = p(z + Az, t) = 0.5

goboogpbbOosb0O0bbO0O0ODbDO0OODbO0ObODbOODOODbOnOD pa:%pmax:
0500000000000 CcrLODOODOODOp,0D05000000 CFLOO
gopbooboooobooooo

goboobo4b000000D0O0O0DOODOOOODOO 190030000000
goboooboogb 20000

000000000000 (26)00 (27r)OD000OO00DOOUOOU0OOOOOOOO
gbodboboobobobobooobobobuoooboooboobobaooobo
gboobobooboboboooboooooboboobobooboobonooo
gbooobobobooboboobobobooobobuoboobooobobobo
goboodgbbooobooboooboobooobooboboobbooboo



ug oo

“sabunout0d.dat’  +

Qmar

v

Fig. 19 0000 o0400000000000000OO0

“sabunoutd3dat”  +

Qmaz

v

Fig. 20 0000 030000000 DbOObOOOOOO

5.2 U0o0oOobbOoboooobobboooobbbooon

gobooboobobooobooboobobooboobboobooooba
e 00 MUIDDDODDOODOOOODODODODODODODODO
e NSODODOOOOOODOODOOOODOODOOODOOO

e JO00UDOODOOLOOODODOUDODLOOLODOUDOODODODODLODOOODOD
oooooo



gooobobbbobbbobodoooooooobooooo

gbobobobobobobobooboo
U0 D0 100000 Ve ODOOGODOO

0000 ODoOOo0oDOoOobOOoO00oDoOoOobboO0ooboooboOoon SsTopPNUM ODODO
gobooobod

goboobooooboobooobobooboobbooboobbo 210000000
Vimez =30STOPNUM =3 00000 1400 1500000000000000000O0O

p=0.33 p=0.34

Fig. 21 00000000 O0OO0OOOOO0OO0OO0

gobodgbooobooon
Vinee 0 STOPNUM OOOOOCOOOOOO0OO0OOO0OOOOO0OOO (O22)0ADO

99

9

o B
Fig. 22 000000000000

ooooooooooooo0oooooOooooboooOooo poOoDOOOODOOD



ug oo

(A-1) 000000000000000000 (STOPNUM+1)00000000000
0000000 000000000 (A-1)(STOPNUM+1)000000000000
0000000000000000000000000000000000000400
0oo
100 — A

(A—1)(STOPNUM + 1)
0000000ADOODODOOOOO
100 + Vinae (STOPNUM + 1)
Vinae(STOPNUM + 1) + 1

Vmaa: =

A= (28)

oooo
A000D0OD0O0O00D000000000000000000 (28)0 Vi O STOP-
NUM OOO0OO0000

Vinaz = 3, STOPNUM = 2000

32+1)+1
Viaz =3, STOPNUM =3000
1
A:wzgﬁ
33+1) +1
Vinae =4, STOPNUM =3000
100 +4(3 + 1)
A:—: .
Byl 0B

obooooboooooboobobooobooOoD 2300 2400 250000000000
0000000D0O0C0O000000o0D000g Vi =3, STOPNUM =20Vy4, =
3,STOPNUM =30 Vye =4, STOPNUM =3 0000 00000000 ODOO

Fig. 23 Vinew = 3,STOPNUM=20000O

goboobbog 2000000000000
goobobbooooboobbooobboobbobog 2robb 2900000DO
00 Ve =3, STOPNUM=2 0000



gooobobbbobbbobodoooooooobooooo

p=0.08 p=0.09

Fig. 24 Ve = 3,STOPNUM=30000

p=0.06 p=0.07

Fig. 25 Ve =4,STOPNUM=30000

e0<p<1/A00000000D0O0000DOOO0O0OOOOOOOOOOODO
(1/A)=10000 (O 27)0

¢ 1/A<p<1/(Vmax+1)000000000000000 000000000 w
00000000 1/(Vinee+1)=0.25 000 (O 28)0

¢ 1/(Vmaz+1) < p<050000000000000000wd000000000
0,0000,0000000000000000000000000O0OO00
00000000 1/A<p<1/(Vmee+1)000000000 (O 29)0

go p:mDDDDDDDDDDDDDDDDDD U 000001000000

20 c000000D0OO0OO0DOOOOOOOO p:mDDDDDDDDDDD
gobooboboobboobdg 260 whODOo0DDbOO0OOO0ODDOO0
000000 Viyee O STOPNUMOUOOOODOD 260 o0 Vi@, 00000000
Vinaz = 1, STOPNUM =00000 1840 Vi = 1, STOPNUM = 10000000
000000 p=05,¢q=05000000000000w0 Ve, O STOPNUMOODO

O000000p=34/100,p=0500000000000000000 18400000



ug oo

0.5F - -/--1--

€

0 1/A 1/ (Viax+1) 0.5 1

Fig. 26 O0O000O0O0O00OO0O0OO0OOOODO

p=0.10

Fig. 271 0<p<1/A000DO

gbobobobobobooboooobooooooog

6 0O0OU

oooooobooOoooOoboboOoOoOoOoboooOo0OooboOboo0ooboDooOoo
0000000000000 0oO0O0o0O00goooogoooooooooogooooon
ooooooon

ooo0oooOo0o0oOoOoooOo0oOoOobDOOoO0UoOooOoOo0OoOoDoobooOoOooo
gboo2203b00boboooooooboboboobooboobobobbooboobnoo
O0D0O00D000OVyeO STOPNUM OOO0ODOOODOOODOOODOOOODOOODO
000 pbqe00ODOO0OO0OODOODOOO0OO0ODOOOOOOODOOOODODOOODO
goboo

U0b00bbo0oobo00oboobobooobooionD Vi, Oooboooooooo
000000000000 000 Nagel-Schreckenberg 000 2?0000 100000



gooobobbbobbbobodoooooooobooooo

Fig. 29 1/(Vinaz +1) < p<0.50000

gboooboobooobooboooobooboobboobbooboobooobobon



ug oo

gooo

1] 00 00: “0000000000000DO0O0O0DOO0O0O0OOOO”, 00000
0000000000000 (1999)

2 00 0:“00000000000000000007, 0000000000000
00000 (2000)

3] 00 0O0: “000000000000O0UDO0OLO0OUOODOO0OUOOOOUO”, 00
0000000000000 00 (2003)

(4 00 00: “00000000000000000007, 0000 12,10.2,pp26 -
37(2002)



